ABRAIRAR

BNI PNT-508-105-2015

#TEEX%5: BNIOOSH

SALLUrr

G715

[T T T
L o
- ~
—— L — a5
Nl o | B | =
Ny © | Il o
i
224,0
2094
6,5 M12x1 (8% 78" Mi12x1
«| o
<t [+ o]
© ©
[Te]
NG
30,5 250 | 250 | 250 7/8" M12x1 18

X

e @

Basic features
HEGEE

R
SIENAR AR

R

BER

Display/Operation
FERATORERER

B, 10-Link i@

BR, BUTERGLE UA
AR, RRISHE us

Internet

UK
CA

1=hg (20 f&)
BEE M12 (41@)
bi-iuke ]
SEMEEARE
[EESLE

$21¢ M4x6
My

Google Chrome
Mozilla Firefox
CE

UKCA

cULus

10-Link

WEEE

=]
=

LED =&
LED %8
LED %8
LED %8

www.balluff.com

Electrical connection

Wb |

#0O (com1)

#0O (com2)

&0 (EBfE IN)
&0 (EBfitfE ouT)
5%, REFHE

Electrical data

10-Link Thég

NIt EE

L e

T{FEE Ub
BARHER, EEHEE

AR T{FER Ue DC
SEEE UA, BiTE8
I US, BRI
WA / SRR
BHER =X

Subject to change without notice: 267889

8x M12x1-#f[M, 5-8f, A-4RiS
M12x1-# 0, 4-8t, D-4RH5%
M12x1-# 0, 4-8t, D-4RH5%
7/8"-1538, 5-&t

7/8"-#& 0, 5-&t

NiAu

EXEHN

IPV4

10/100 Mbit/s

18 - 30.2 VDC
short-circuit proof and overload-
proof

24V

9.0A

9.0A

=

2 A short-circuit proof and
overload-proof

eCl@ss 9.1: 27-24-26-02
ETIM 6.0: EC001599
BNIOO5H_0.101_2022-12-19

1/3



ABRAIRAR

BNI PNT-508-105-2015

FTEE{XHS: BNIOOSH

SALLUrr

Environmental conditions Material
EN 60068-2-6, HRED 5-61Hz, EERIE L mm SFameE

61 - 500 Hz, EENE 15 g HMERSERE
UL RRRISEE 45°C BHRMH
BRRE -25..70 °C HEE
RIBRE -5...70 °C
UiE £ P67, B FRIZERIIARE

Mechanical data
Functional safety Bk
MTTF (40 °C) 49a Rt
A EE 4

Interface
Fast Start-Up (FSU) =
10-Link RZs 1.1
E Profinet | / O
BIEER B
BORER BEA
LG PN 16x PNP, 3 &I
i im 16 {& PNP
AR R WER 11l
HEIAE 8 {& 10-Link
Remarks
2 REERMA

B MTTF & Blod HIERAER, %258 MTTF/B10d B

8 B
=
FKM 75
Cu 15 pum

Ni 15 pm

kG

2 BIREE
68 x 37.9 x 224 mm
M4

LEERFRIR L9 MTTF / B10d Bl E AN BIRGE W EEMMFE R / SEASE | SERKRE ITERUARITHORYN, SEBELTEBMIRERR

HAFREYE R ES AR AR IR A,

Internet www.balluff.com

Subject to change without notice: 267889

eCl@ss 9.1: 27-24-26-02
ETIM 6.0: EC001599
BNIOO5H_0.101_2022-12-19

2/3



ABRAIRAR

BNI PNT-508-105-Z015 B A |_ |_ u I_' I_'

#TEEX%5: BNIOOSH

Connector Drawings

3 3

4 2 [e) 3 4
2 4
00 o8

S\ ] oo ks 2 1
EIREA BRI lO-Link
PIN1:0V PIN1: 0V PIN 1 : +24V
PIN 2 : OV PIN 2 : OV PIN 2 : 8§ A\ / B % / 2280
PIN 3 : Thaeisit PIN 3 : ThREfEtth PIN 3: 0V
PIN 4 : B RIBSFI4E4R{ALE PIN 4 : BEIZSFI4R4RMLEE PIN 4 : 10-Link / 8\ / & ix
PIN 5 : ${TESLE PIN 5 : #1783t E PIN 5 : RiEfE

2

O
11 O O /3

(@]

4
Profinet i [
PIN1: TD+
PIN 2 : RD+
PIN 3 : TD-
PIN 4 : RD-

3/3
Internet www.balluff.com eCl@ss 9.1: 27-24-26-02

Subject to change without notice: 267889 ETIM 6.0: EC001599
BNIOO5H_0.101_2022-12-19



